



Presented To : ALL PUNTERS

Gradualwins.com



## **Previous Bets - Performance**

This report is a sincere publication revealing our current SB3 (3.2 Odds daily) performance.

The purpose of this report is to help you make informed decision pertaining Premium Membership.

Before subscribing to either of our premium membership, analyze these results keenly and make your sound decision. We value transparency - Honest disclosure of results have been upheld by our team and management.

Finally, Our aim is to help you realize your sports betting business. If you follow our guidelines and patiently adhere to our strategies, you will change your perspective and attract profits.

Indeed, Winning is Gradual.

We consider globall soccer.

support@gradualwins.com





# SUMMARY

| Date    | Result (W/L) | Odds          | Stake | Total Win | Profit/Loss (\$) |
|---------|--------------|---------------|-------|-----------|------------------|
| Sept 10 | W            | 1.76          | 10    | 17.6      | 7.6              |
| Sept 11 | W            | 1.71          | 10    | 17.1      | 7.1              |
| Sept 12 | W            | 1.89          | 10    | 18.9      | 8.9              |
| Sept 13 | W            | 1.89          | 10    | 18.9      | 8.9              |
| Sept 14 | W            | 1.76          | 10    | 17.6      | 7.6              |
| Sept 15 | W            | 1.55          | 10    | 15.5      | 5.5              |
| Sept 16 | W            | 1.78          | 10    | 17.8      | 7.8              |
| Sept 17 | W            | 1.82          | 10    | 18.2      | 8.2              |
| Sept 18 | W            | 1.6           | 10    | 16        | 6                |
| Sept 19 | W            | 1.72          | 10    | 17.2      | 7.2              |
| Sept 20 | W            | 1.52          | 10    | 15.2      | 5.2              |
| Sept 21 | W            | 1.47          | 10    | 14.7      | 4.7              |
|         |              | 12-Day Profit |       |           | 84.7             |

NEXT UPDATE -28/9/2024







### No. of Bets: 1 Single

#### Stake is \$10 for today

| S | \$10 for today                                    | Won  |
|---|---|------|
|   | 🕀 Czech Republic – Ukraine                        | ×    |
|   | Both Teams To Score<br>Your Pick: <b>YES (GG)</b> | 1.76 |
|   | TOTAL ODDS:                                       | 1.76 |
|   | ***   |      |

# SEPT 11

#### No. of Bets: 1 Single

#### Stake is \$10 for today



х

1.71

Both Teams To Score Your Pick: **YES (GG)** 

\*\*\*

# **SEPT 12**

#### No. of Bets: 1 Single

Stake is \$10 for today



×

1.89

Maccabi Herzliya – Hapoel Rishon Lezion

Total Goals Over/Under - Full Time Your Pick: **OVER 2.5** 

\*\*\*



# Gradualwins.com SEPT 13



### No. of Bets: 1 Single

#### Stake is \$10 for today



😯 Waterford Utd – Dundalk FC

Total Goals Over/Under - Full Time Your Pick: **OVER 2.5**  1.89

×

1

\*\*\*

# SEPT 14

No. of Bets: 1 Single

Stake is \$10 for today

| 😧 Crystal Palace – Leicester                                     | ×    |
|--|------|
| Total Goals Over/Under - Full Time<br>Your Pick: <b>OVER 2.5</b> | 1.76 |
| TOTAL ODDS:  | 1.76 |

# SEPT 15

### No. of Bets: 1 Single

Stake is \$10 for today

| Wolverhampton – Newcastle          |     |
|------------------------------------|-----|
| Total Goals Over/Under - Full Time |     |
| Your Pick: OVER 2.5                | 1.5 |
| TOTAL ODDS:                        | 1.5 |







#### No. of Bets: 1 Single

Stake is \$10 for today

Won

| ×    |
|------|
| 1.78 |
| 1.78 |
|      |

# **SEPT 17**

No. of Bets: 1 Single



Stake is \$10 for today

| OPR – Crystal Palace | ×    |
|----------------------|------|
| Both Teams To Score  |      |
| Your Pick: YES (GG)  | 1.82 |

\*\*\*

# **SEPT 18**

#### No. of Bets: 1 Single

Stake is \$10 for today



| 🔁 Varnsdorf – MFK Chrudim  | ×    |
|--|------|
| Total Goals Over/Under - Full Time<br>Your Pick: <b>OVER 2.5</b> | 1.60 |
| TOTAL ODDS:  | 1.60 |



Gradualwins.com SEPT 19



No. of Bets: 1 Single

Stake is \$10 for today

E

| ×    |
|------|
| 1.72 |
| 1.72 |
|      |

# SEPT 20

#### No. of Bets: 1 Single

#### Stake is \$10 for today



| 😌 PEC Zwolle – AZ Alkmaar  | ×    |
|--|------|
| Total Goals Over/Under - Full Time<br>Your Pick: <b>OVER 2.5</b> | 1.52 |

\*\*\*

# SEPT 21

#### No. of Bets: 1 Single

Stake is \$10 for today

.



| 🕃 West Ham – Chelsea   | ×    |
|--|------|
| Total Goals Over/Under - Full Time<br>Your Pick: <b>OVER 2.5</b> | 1.47 |
| TOTAL ODDS:  | 1.47 |





| Date          | Result (W/L) | Odds | Stake | Total Win | Profit/Loss (\$) |
|---------------|--------------|------|-------|-----------|------------------|
| Sept 10       | W            | 1.76 | 10    | 17.6      | 7.6              |
| Sept 11       | W            | 1.71 | 10    | 17.1      | 7.1              |
| Sept 12       | W            | 1.89 | 10    | 18.9      | 8.9              |
| Sept 13       | W            | 1.89 | 10    | 18.9      | 8.9              |
| Sept 14       | W            | 1.76 | 10    | 17.6      | 7.6              |
| Sept 15       | W            | 1.55 | 10    | 15.5      | 5.5              |
| Sept 16       | W            | 1.78 | 10    | 17.8      | 7.8              |
| Sept 17       | W            | 1.82 | 10    | 18.2      | 8.2              |
| Sept 18       | W            | 1.6  | 10    | 16        | 6                |
| Sept 19       | W            | 1.72 | 10    | 17.2      | 7.2              |
| Sept 20       | W            | 1.52 | 10    | 15.2      | 5.2              |
| Sept 21       | W            | 1.47 | 10    | 14.7      | 4.7              |
| 12-Day Profit |              |      |       |           | 84.7             |

# NEXT UPDATE -28/9/2024